118(A) 128 (L) 13H ()K) 148 (XK) 158 (£)
gl  o37Em REBURBRLE
@|1(2(3|4|5[1]|2/3[4|5|1|2]3|4|5]|1]2 415(1]213]4]|5
1#@@@@@%@@@@@i@@i%@@@ﬁﬁ@@

e elEdE Y e g EE Y e Y EE B &L
ziiﬁ“—%iﬁﬁi m(mE ||| E| = iﬂs%iﬁsggmﬁ%ﬂ
AR R B HEBEEHE OH B EEE
3%:I5$$i@$iﬁ§¢i%§$i@ﬂﬁﬁﬁamiggﬁ%@
AR EHE I H BB I R BRI BEEEE
5| |% % %
4@%:&:‘7:%$ﬁ$§§ﬁ$§ﬁ§§@ %*i%*i%ii
AR I I I A = A R P R A P R s PR g
5l |s &5 &5 i
sl ||| |2 |m | e 5|25 e |eldezedlalelelen
AL IR I E B I HE R BHEREE
& & 2|z tk 2 t*
6| V57FE |z|z|x|&|8 ﬁé—?—?l;?él;?é’é‘g’é‘
#|  sTomLY Btk (540) ) Bk (2-34) | BFeok(-4d)
al FExnzsm feAEn—F ROREICEH) | epatobus) [RoBEyG-2-58)
-
FERANRA
= [PEEEEDRLEEMDS —
B gamlt> BHisix ®Eis | BR B A—FLE
ZHIEETA P
*i% KIZEHDS ﬁﬁ HATEDIGETT
EH | EDOLLH BE | ERAOEEELEL
HE| ADDKYELEH TR+ wa FAXEIZDNTEIAS
EB mkEHE Sl e B
VEOHLEEAYD = L
BE | SEAmsk #Aknst SHEIER|What time is it?
BT |¥axarrrsyzq4— 7=




